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2000 3179  3074.8 3205.4 2785.8 3123.4 3179.0 3167.2 3156.4 3372.3 

2001 3590 3709.2 3602.6 3571.3 3566.9 3632.6 3590.0 3587.2 3973.1 3438.5 

2002 3852 4280.2 3774.2 3878.1 3789.8 3813.7 3852.0 3849.3 3819.3 3498.1 

2003 4565 4644.2 4631.9 4529.3 4550.7 4596.4 4565.0 4562.3 4326.7 4801.2 

2004 6623 5634.8 6807.3 6623.0 6927.2 6758.5 6623.0 6628.6 7154.3 7046.1 

2005 9014 8493.9 8838.6 9013.4 8731.6 8801.5 9014.0 9011.0 8330.1 8598.5 

2006 10957 11815.7 11129.5 10948.0 9978.5 11079.6 10957.0 10957.6 10797.4 11092.9 

2007 13656 14515.0 13630.7 13669.6 10747.7 13638.1 13656.0 13656.4 13833.4 13748.1 

2008 19101 18264.7 19047.4 19099.0 13603.3 19093.2 19101.0 19091.8 19146.5 18872.3 

2009 18707 25829.4 19909.2 18858.8 11269.7 18423.2 20833.4 15469.8 21061.5 18701.6 

2010 * 21113.0 20619.5 20020 20068.8 19894.8 19676.0 20004.0 20096.4 20132.6 

2011 * 23676.0 21942.1 16138 21361.8 20093.0 21886.5 20729.8 23747.9 17526.3 
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   (  )  

   
 Y=-07.2958383+1.389284341*Y(-1) 

-   
      

   

Y = 19473.1 + 3.1457*Y(-1) - 1.4539*x1 + 0.1269*x2 + 
0.0131*x3 - 36.7921*x4 - 5.7203*x6 + 3.8303*x7 

     
   Y = -6755.1 + 39,.0251 * x3 + 10.1674 * x21 + 0.9975 * x6 

 ,    
     

    

Y = -1577.7 + 0.00733*x3*x6 � 0.00000481*x1*x7 + 
0.00799*x10*x12 + 0.017*x17*x21 

    
  ,  

   

  x3, x6, x2. 
  : 

-   -  . 
   = 3. 
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  x1, x10, x12, x17, x21, x6, x7. 
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   = 3. 
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 ,    
    

Y = 8964,4 � 4419,2 * Clus4 -2314*Clus2*Clus3 + 
1395*Clus1*Clus1 + 1047,8*Clus4*Clus4 
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